
 

marginal costing

Marginal cost cost of producing one additional unit

capacity I cnn.esytii n10Lakh 10Lakh

Targeted var CostPu r

Production 30 to TEETH
Total FC Total FC

9 Lakh 2254am 525484 13 Lakh

marginal
cost

change in total cost

change in Qty
situ I 310th units 30 situz Chakhyfftistate3 Lakh

30 p.ae 32 14 p n

Marginal Differential
Cost

Incremental
cost cost

S
cost



Fothee 1m
If Total Cost Amt0

rema.is irrespective
of Qty then it Fixes

the cost

It P u Amt is constant then it is variable

cost

It it is then it is e

Total
EAm Im I raise

Qty Qty

yiturcatio.IS
Regressionif method

High Low method

variable
cost p.ee

Change in Total cost
change in Qty



Total cost variable cost Fixed cost

Y Qty

are
R

sionmet.hr
Least squares method

cost
slope yggyf.eu

yintercept

Qty

E EE
III at

Que

9 7 mˢIcy x x ̅ 4 9 x x ̅ 4 T x x ̅

1200 27600 850 13450 1 14,32500 7,22500
1700 37400 350 3650

2300 43700 250 2650

3000 950 14450

x ̅ 2050 so Ʃ 2 00,000 1810,000



m cos E
m

Y Y ma c

T m x ̅ c

I 41050 14.9723 2050 G

i C 10356.78

Total Fites cost

Find out Total cost for 4400 units
4400 1409723 10356 78

762 34

Step up

cost cost

Qty



Why to use marginal costing
Decisions should be taken on the basis
of marginal cost

splines 188IYu profit

Room 5

Fixed cost 12 co p.m
var cost 4000 per Room per Day 408 2 Guests

Rooms sold online Retai channe 300 Rooms

Cost Per Room
Per Day 61205

301

1 4000

8000 4000

12000 P.r Pad

selling price 12000 301 09 12000

15600 perfroom Per Day
counter offer 11000 per Room per Day

Prosit 25 53Days

31,50000



statement of Income

sales

Less variable cost

contribution
Less Fixes cost

Net Profit

P V Ratio C ti 100

1013
Change in Profit
change in sales

100 Is Éame

Profit sales Ply Ratio Fixed cost

f
sales mix saltsQty mix

on

in 3

are
A B C

PIV Ratio 301 251 45

Sales value mix 2 3 4



Find overall PIV Ratio

II A B c total

sales Amt 200 300 400 900

PH Ratio

IIi Contribution

overall or

combined PIV Ratio
100

35

overall PV Ratio is weighted Avg of Individual PIV Ratio
with weight being assigned to sales value mix

Ratio 30 2 25 3 45

35

QI what will be your answer in above question if

given mix is sales qty mix 9

Ads can't be calculated

A B C Total

Sale Qty 200 300 400 900



11 A B C

P V Ratio 201 301 351
v c unit 1 12 8 25

sales qtymix 5 4 3

Find Feral PIV Ratio

And A B C total

Qty 500 400 300 1200

s.pe unit

c
15 11042 38.46

Sales 7500 4568 11538 23,606
Less Var Cost 6000 3200 7500

atyxv.ci unit
Contribution 1500 1368 4038 6906

contribution Prn 12
28 8

35 25
35

3 3.42 13.46

sales v c contribution

100 80 20

2 I

overall PIV Ratio
z

100

29.25

f

I



11 contributionunit contribution

Weight being assigned to sales Qty mix

weighted Avg SP 19067

15 92 11.4 E 38.46 72
Less weighter Avg v C 13.91
1 E 8 E 25 32

i weighted Avg Contribution unit 55
i PIV Ratio 100

29.25

I

Contribution contribution
per unit in contribution Per 1 capacity

Per 100 Utilisation
of sales



Break Even Analysis Operating Break Even Point

e

Break even
Bleak capacity

sales even Qty

BES E.fi
ost Bea

Initiation
E Tap'ality

overall combines composite weighted Avg

Fixed cost 2500,000
P V Ratio 301
sales contri
100 30

9 25 Lakh

Individual PIV Ratio Contribution Per unit

sales value mix sales Qty mix

combines PIV Ratio wt Avs Contributionunit



Desires sales to get given profit

Desires sales Total Fixed cost Desired Profit
Amt PIV Ratio

Desires sales Total Fixed cost Desired Profit
Qty contribution per unit

Desires sales
Amt a

Total Fixed cost 10 of a

P V Ratio

Margin of safety Mos

Mos is sales in excess of Break even sales

at Mos sales Actual sales Break even sales

b Mos Ratio

c Mos capacity Actual capacity Break even
utilisation capacity utilisation

d Profit Mos says PIV Ratio

e Prosit

Effy
contribution unit

1
9 at



s p unit 30

P Ratio 25

Total Fixed Cost 1500,000

Qty sold 650000 units

calculate

Mos sales Mos Ratio operating leverage

AI sales 1,9500,000
650000 30

Less Var Cost 1 46,25000

19500,000 75

i Contribution 78,75000
Less Fixed cost

i Profit

Break Even Total Fixed Cost

Sales PIV Ratio

1

6000,000
Mos sales Actual sales Break even sales

1,3500,000
Mos ratio

a

Both indicate 15Level of

operating Risk 66923



operating leverage Gn fy h

OL

1 4444
Oh

potratio 0 923

10444

Increase Decrease

Mos Ratio operating Risk Operating Risk
Decreases Increases

operating operating Risk operating Risk
Leverage Increases Decreases

mos ratio IIII É I ion

operating Leverage Coffffon



Profitability statement under marginal costing IMP

cost Item 1728119 1 99
Direct Material Product cost Product Cost

Direct Labour Product cost Product cost

Direct Expenses Product cost Product cost

variable Factory 0H Product cost Product cost

Fixed Factory 0H Product cost Period cost

AOHP variable Product cost Product cost

Fixes Product Cost Period Cost

AOHG variable Period Cost Period cost

Fixes Period Cost Period cost

S D OH variable Period Cost Period cost
Fixes Period Cost Period Cost

Income statement

marginal costing

particulars

Sales

Less variable cost

opening stock E

Cost of Goods feces Itos Q

C1 stock

i variable cost of Goods sold

AOHG variable B

S D OH variable ttB



Contribution
Less Fixed cost FOH

AOHP

AOHG

S D OH

prosit

Cl stock calculation

FIFO WIC
CI stotic comprises we mi Goods from

of production from op stock and current

current period periods production

t.CIStock Cost of Production
for current
Period CI Stock

etyProd Qty of
current period

R

IE

a stock 915 8 1
OP stock Production

Qty Qty

Cost ofGoodsavailable
for sale

OF stockqty poosany



R

ff
a stock

Qty

e g OH incurred 500,000
OH Absorbel
under Absorption

to
safrementatory

to costing Forwart
P L

Wfmt under Absorption
under Absorption will become
will not become

part ofitem of Difference
Reconciliationwhile reconciling

profits statement

Key Factor Analysis Limiting Factor Analysis

Limiting Factor Resource in Limited supply shortage

Resource can be used in multiple
products

How to solve Questions in exam

Step 1 Identify key Factor
step 2 Calculate contribution Per unit of key Factor

It fifteen
total contribution per unit of Fa

Qty of key Factor for



1 unit of FG

36 32 50

Protect A ProtectB

step 3 Do Ranking

Step 4 Do Allocation of available Resources

produce A
e Ress B Besides

3 50 20 40

g
Boooni sons sooo

6500

B 5500kg 580 6875 687 8 4
5496

Low eman or what can be
producedwith
available
Resources

optimum mix 1300 units 687 units

CVP Analysis and Angle of Incidence
C Cost

v volume or Qty
P Profit



Sales Ant
Amounts

I

BEEsales II

m
Mos l cost

HimBreak Afg Qty
8

wider the angle higher the netpoofitmarg.in

wider 1 more the Mos

merger of Two plants
Plant A Plant B

Capacity 10000units 6000 units

Actual sales 7000 Units 3000 Units

5 P unit 25 47
V c unit 18 35

Total Fixed Cost 21000 19000

Find out Break even point post merger
Post merger working

situ situ 2

sales 7000 25 10000 25

3000 47 6000 477



3 16,000 532,000

Less Var cost 7000 18 1 10000 18

3000 35 6000 35

i Contribution

Less Fixes cost
i Profit

PH Ratio 3 87 100 ff
26.89 26069

Break even point

148,754 149,869

sales as A 1,75000 250,000
B

ta

P V Ratio of A 251

287 28

B 3ˢ
25.531 25 53

overall PIV Ratio 28 5,9 28 3 2
t

25.53 341 25.53 32
26.89 26 69



Question b NOV 2023

i shut Down Decision

Particulars present In Down

sales 60000 15

9,00000 0

Less var Cost 60000 12

contribution
Less Fixel Cost 4,20000 420,000 250000

25000

i Prosit Loss g

Ii Shut Down Point in units
sales 225,000 201 11,25 000
var cost

fi contribution
Less Fixed cost

Profit Loss

i Shut Down Point 112,5ft 75000 units

https t.me adz updates


